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Solve each problem mentally and then check your answer with a calculator. Check your work with your tablemates - what 
was easy rk}, what was surprising ( ! ), what was confusing ( ? ), what caused disagreement(<:?).

Problem Predict (mental) Check (calculator) @! ? <:? I think ...

2000 + 10 = 2 0 () 200 I
I ' I 

,. 

so+ 10 = � 
�

7000 + 10 = 7 00 7(}[/ 
4+ 10 = 

�
L/ 

Lo

r2

3 + 100 = ___z__,,· 
,� 100 

1 + 1000 = �o l-
"lOoc 

9 + 0.1 = 0. q o,q 
7 + 0.01 =o t o 7 C), o, 
0.8 + 10. (/,(! 8 /, ;J 0u 

0.02 + 1oot·iQJ0'2 {7.00
1v 

What did you do to help yourself solve these problems mentally? ___________________ _ 
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Solve each problem mentally and then check your answer with a calculator. Check your work with your tablemates - what 

was easy rtn, what was surprising ( ! ), what was confusing ( ? ), what caused disagreement ((:?).

Problem 

2000 + 10 =

7000 + 10 = 

4+ 10 =

3 + 100 =

1 + 1000 = 

-9 + 0.1 =

7 + 0.01 = 

0.02 + 100 

Predict (mental) Check (calculator) ! ? \/ I think ...
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What did you do to help yourself solve these problems mentally? 'v-\Y"\(X! °S. � .... o\ t.,v� Jock 0-:1: ·J be. 
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Solve each problem mentally and then check your answer with a calculator. Check your work with your tablemates - what 

was easy ttn, what was surprising ( ! ), what was confusing ( ? ), what caused disagreement (<:::?).

Problem Predict (mental) Check (calculator) * ! ? <:::? I think ...

2000 + 10 = LCD loo -5$ 

50 + 10 = s s '¢ 

7000 + 10 = 100 1CO iz 

4+ 10 =
fo�)-� O,� 

3 + 100 =
r 

, 0.03 003 \'{} -

1 + 1000 = 0,0Q\ Q_oo\ \ tJ; 

9+ 0.1 = Q,o� 10 \? 
- :1 

7W 7 + 0.01 == 100 \ 
,< 

�:) Ob� \� 0.8 + 10 
-l.l0'B 

\ 

\ ':if/' 0.02T 100 2 OIJJ0), '.1::7 
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Solve each problem mentally and then check your answer with a calculator. Check your work with your tablemates - what 
was easy t*-}, what was surprising ( ! ), what was confusing ( ? ), what caused disagreement(<:?).

Problem Predict (mental) Check (calculator) *' ?<:? I think ...

2000 + 10 = 1a6 Jr,c T .)... L I \.-. I( ;..i- �. �/\Jr,�� 

so+ 10 = r 
s +- i, . Ir. I< ,-�, ?i, T \l\!',,c, ' 

7000 + 10 = 
7 (Jc) 70') I+- L, 1) J. ,+ \,/v(/',<'1 -h 

4+ 10 = 
l I-� (\1\ y -r }L .. �k;t , __ JO,, J 

3 + 100 = "2 � + h 11� k I 1 vJ(h� ...fr 0 ,0'7:1 (7') ,0).) -

1 + 1000 = 
� , u I ('},o,O} rT _  -11.,,i"V\ k ,J- 1,,v&i( .,)¥

9+0.1= 
�� J Yr".7 + L IV\ ), ,+ 

,) 
)_ ,,.._ 1(1.,.C, 
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7 + 0.01 = 
1c./lJ '- -t-L ,.,,.,h J + ,,,..J� <; �/OrJ 

0.8 + 10 o,o'z> ("1) .()x --1:._ +·l-- ,vih l 
I 1" v,.A'S fl 

0.02 + 100 
(') I f'lr� Q ,,...,_,..,-r� Q --r-- l--'\r. ; l," I-< 
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What did you do to help yourself solve these problems mentally? _Q'--'--'n2"-'-',l''---'-'-'-h-+'lo""""1 __ -1,,..[-l-,._.o
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Solve each problem mentally and then check your answer with a calculator. Check your work with your tablemates - what 

was easy t*}, what was surprising ( ! ), what was confusing ( ? ), what caused disagreement ((:?). 

Problem 

2000 + 10 ·=

so+ 10 =

7000 + 10 =

4+ 10 =

3 + 100 =

1 + 1000 =

9 + 0.1 =

7 + 0.01 =

0.8 + 10 

0.02 + 100 

Predict (mental)-. -

2_00 

5 

7DO 

O.�
00 �· f ,) 

0. 0(') I
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Qo 7 
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·-Gtireck (calculator) *' ? (:? I think ...

20,6 
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What did you do to help yourself solve these problems mentally? J J ·, J 1 he wo( k.. {/I 5} f b vi D C/2e<Jt1 J iri
ne c�/cu__{ a__+e( 




